

Page 1 of 1

FDOT

Letting:

Florida Department of Transportation

Vendor Ranking

Call Order: 004 Contract: E3Y92-R0

AM

03250911

District: District 3 Counties: DIST/ST-WIDE, Fed Aid No: N/A

Contract Time: 12/31/26 COMPLETION DATE

GADSDEN

Project(s): 42215137208 (*)

Contract Desc: MIDWAY OPS ROUTINE MAINTENANCE - GADSDEN COUNTY MOWING

September 11, 2025 11:00

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	AMG OPERATIONS, LLC.	Responsive	Winning bid	\$498,751.68	100.00%
2	FLORIDA RIGHT OF WAY CORPORATION	Responsive	Non-Winning Bid	\$502,516.43	100.75%
3	COLLINS LAND SERVICES, LLC	Responsive	Non-Winning Bid	\$611,499.97	122.61%
4	CGI LAND SERVICES LLC	Responsive	Non-Winning Bid	\$615,854.55	123.48%
5	ROTOLO CONSULTANTS, INC.	Responsive	Non-Winning Bid	\$617,958.37	123.90%
6	ULTIMATE ASSET RECOVERY GROUP L	Responsive	Non-Winning Bid	\$676,715.13	135.68%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 4

Letting: 03250911 September 11, 2025 **Call Order:** 004 **Contract:** E3Y92-R0

District: District 3 Counties: DIST/ST-WIDE, Fed Aid No: N/A

Contract Time: 12/31/26 COMPLETION DATE GADSDEN Project(s): 42215137208 (*)

Contract Descr: MIDWAY OPS ROUTINE MAINTENANCE - GADSDEN COUNTY MOWING

The work under this Site Specific, Work Document Driven Contract in Gadsden County, consists of routine mowing of grassed/vegetated roadside areas in conjunction with the pickup, removal, and disposal of litter and debris. Mobilization and Maintenance of Traffic are incidental to the pay items listed.

Line No / Item ID Alternate Item Description	Quantity Units	(1) AMG OPERATIONS, LLC.		(2) FLORIDA RIGHT OF WAY CORPORATION		(3) COLLINS LAND SERVICES, LLC	
() indicates item is bid as Lump Sum	• · · · · ·	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	LARGE MACH	IINE MOWING (AC					
0005 E107 1 1 LITTER REMOVAL	26,805.380 AC	10.00000	268,053.80	11.00000	294,859.18	10.00000	268,053.80
0010 E107 2 1 MOWING (LARGE MACHINE)	5,166.270 AC	29.00000	149,821.83	25.00000	129,156.75	46.00000	237,648.42
0015 E107 2 2 MOWING (SLOPE)	570.600 AC	100.00000	57,060.00	100.00000	57,060.00	150.00000	85,590.00
0020 E107 2 3 MOWING (INTERMEDIATE MACHINE	160.650 AC	100.00000	16,065.00	100.00000	16,065.00	75.00000	12,048.75
0025 E107 2 4 MOWING (SMALL MACHINE)	51.840 AC	95.00000	4,924.80	75.00000	3,888.00	100.00000	5,184.00
0030 E107 2 5 WEED CONTROL, MANUAL	29.750 AC	95.00000	2,826.25	50.00000	1,487.50	100.00000	2,975.00
0001 LARGE MACHINE Se	ction Totals:		\$498,751.68		\$502,516.43		\$611,499.97

MOWING (AC)



09/15/2025

Tabulation of Bids

Page 2 of 4

Letting:	03250911	September 11,	2025 C	all Order: 004	Contract: E3Y92-R0			
Line No / Item		e Quantity Units	(1) AMG OPERATIONS, LLC.		(2) FLORIDA RIGHT OF WAY CORPORATION		(3) COLLINS LAND SERVICES, LLC	
() indicates item is bid as Lump Sum			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
Contract Grand Totals:				\$498,751.68		\$502,516.43		611,499.97



09/15/2025

Page 3 of 4

Tabulation of Bids

03250911 Contract: E3Y92-R0 Letting: Call Order: 004 September 11, 2025 (5) ROTOLO CONSULTANTS, Line No / Item ID **Alternate** (6) ULTIMATE ASSET Quantity (4) CGI LAND SERVICES LLC **RECOVERY GROUP L** INC. **Item Description** Units () indicates item is bid as Lump Sum **Unit Price Unit Price Ext Amount Unit Price Ext Amount Ext Amount** SECTION: 0001 (LARGE MACHINE MOWING (AC E107 1 1 26,805.380 402,080.70 0005 15.00000 12.13640 325,320.81 22.58000 605,265.48 LITTER REMOVAL AC E107 2 1 0010 5,166.270 25.00000 129,156.75 34.57110 178,603.64 10.00000 51,662.70 AC MOWING (LARGE MACHINE) 0015 E107 2 2 570.600 105.00000 59,913.00 90.68020 51,742.12 22.58000 12,884.15 MOWING (SLOPE) AC 0020 E107 2 3 160.650 100.00000 16,065.00 38.43980 6,175.35 29.36000 4,716.68 MOWING (INTERMEDIATE MACHINE) AC E107 2 4 115.00000 5,961.60 65.76660 3,409.34 25.97000 1,346.28 0025 51.840 MOWING (SMALL MACHINE) AC E107 2 5 90.00000 1,771.66750 52,707.11 28.23000 839.84 0030 29.750 2,677.50 WEED CONTROL, MANUAL AC 0001 LARGE MACHINE Section Totals: \$615,854.55 \$617,958.37 \$676,715.13 **MOWING (AC)** \$615,854.55 **Contract Grand Totals:** \$617,958.37 676,715.13



09/15/2025

Tabulation of Bids

Page 4 of 4

Letting: 03250911

911 September 11, 2025

Call Order: 004

Contract:

E3Y92-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.